PROFORMA FOR THE WORKING/RETIRED TEACHERS FOR THE AWARDS OF NATIONAL FOUNDATION FOR TEACHERS' WELFARE, ANDHRA PRADESH FOR THE YEAR 2012-2013

1. Name of the Teacher 2. Father/Husband's name			
3. Date of birth			
4. Qualifications			
(a) Academic			
(b) Professional			
5. (i) Service particulars in the case of Working Teachers:			
(a) Date of joining in to Service			
(b) Length of continuous service			
(b) Length of Continuous services	, *		
(c) Designation (d) Name of the school with postal address			
with pin code number			
(a) Decia nov and scale of nav			
(f) Details of service rendered in the Agency/Slum A	rea if any:		
Sl School situated in Agency/Slum		Period	
No area in which worked	From	То	
1 2	3	4	
1.			
2.			
3.			
4.			
5.			
(g) Permanent Postal address (residential)			
and Telegraphic Address with pin code			
number of applicant.			
(ii) Service particulars in the case of Retired Teachers:			
(a) Date of joining in to service			
(b) Date of retirement			
(c) Length of continuous service as on date of retire	ement		
(d) Designation and name of school in which			
last worked with full postal address with			
-in code number			
(e) Basic pay and scale of pay at the time of retirer	nent		
(f) Details of service rendered in the Agency/Sium	* * · ·	*	
Area if any:	The second second		
Sl No. School situated in Agency/Slum	•	Period	
area in which worked.		or each article drow water associated drow that drow water when extended and other extended	
Stess in Amen Agreem	From	To	
1			
2.			
3.			
4.	1000		
5 (Davidontia) and			
(g) Permanent postal address (Residential) and			
Telegraphic address with pin code number			
of applicant.		(P.T.O.)	
		(= . = . ,	

6. Academic achievement:

Year	ngezion e appara propie auto-delegativa en en registaria estituis escon envidendenden ante efensivira	Subject(s) taught	S.S.C	VII	Other classes
(1)	(2)	(3)	(4)	(5)	(6)
	No. appeared				
	No. passed				
	Pass percentage				
	Average marks				
	(in the subject(s)				

- NOTE: (1) The working Teachers should furnish the above particulars for the last 5 years (2) The Retired Teachers should furnish the above particulars for the preceeding 5 years from the date of their retirement.
- 7. Participation of working/retired teacher in the activities of parent-teacher association:
- 8. INCULCATING INTEREST IN CO-CURRICULAR AND EXTRA CURRICULAR ACTIVITIES AMONG STUDENTS (work done by the working/retired teacher should be noted against each item briefly BUT NOT OBJECTIVE TYPE i.e. Yes or No.
 - a) Activities undertaken for strengthning National Integration (Furnish details):
 - NCC i)
 - Scouts & Guides ti)
 - HI) Jumboree
 - iv) Camps
 - b) Cultural Programmes participated and training given to students to participate in competitions at:

(Furnish details)

- **School Level** i)
- Mandal Level H)
- District Level III)
- State Level iv)
- c) Debates/Elocutions/Quiz Competitions/Sports in which the students were made to participate (give details)
 - **Inter School Level** i)
 - (ii) Inter District Level
 - iii) State Level
 - National Level iv)
- d) Excursion/tours to the important places conducted (Mention the places and period/s)
 - Within the State
 - ii) **Outside the State**
- e) Participation in the Community Service (Furnish Details)
 - Social work
 - Clean and Green ii)
 - iii) Health Campaign

Contd....p.3.

9. Co pro	de ntributio	velopme i) ii) iii) on of th	ion of the working/retent of the school (Give Accommodation Furniture Other Aid. e Working/Retired Tey in general (Give Det Participation in Adul Continuing Education Post Literacy Progra	e detail eacher ails): It Educ	s) for	
to	the stu	dents (vative writings useful Give Details): Author, Details of th		s:	
		i) ii) iii)	Class Subject Year			
(1	o) Public		f Articles in (Give De	tails)	Name of Journal	Year of publication
		i) ii) iii)	District Level State Level Publicat National Journal	ion		
	menti	oned al many il	mificant achievement i pove (give details) literates have been ma nildren have been enro	ide lite	rates	
12. A		eceived of the	previously (if any) (C <u>Award</u>	Sive De	tails):	Year
13. S	Deputy I	Educati	of the Mandal Educional Officer concerne	d.		
	Offi	cer sho	s of the Mandal Educuld also contain the real the Working/Retired	marks	on the Antece	Educational edents and
				Sign	ature of the M ity Education	[andal Educational Officer/ al Officer (OFFICE SEAL)
			nmendation of the lonal Officer:			
				Dist	Signature or rict Education (Office seal	al Officer

(P.T.O)

NATIONAL FOUNDATION FOR TEACHERS' WELFARE CERTIFICATE OF ANTECEDENTS & CHARACTER

This is to certify that Sri/Smt/Kum_		working/Retired
as		
per ent der lan ein ein als an ein der par enter an jan der ber ein	School,	Village &
Post,	* With all the second distances and a second distance and a second	
Mandal,	District, who is recom	mended by the
District Selection Committee for selection	for the Award of National	Foundation for
Teachers Welfare, Andhra Pradesh, for 2012 and faultless antecedents and that no e departmental or otherwise, are pending again	2-2013 has an absolutely clean in nquiries or legal proceeding	record of service
Place	Signature of the	
Date	District Educational Officer	
	(Office Seal)	

INSTRUCTIONS FOR SELECTING THE CANDIDATES FOR THE AWARD OF NATIONAL FOUNDATION FOR TEACHERS' WELFARE: ANDHRA PRADESH: HYDERABAD: AT MANDAL LEVEL, DIVISIONAL LEVEL AND DISTRICT LEVEL FOR THE YEAR 2012-2013

- 1. ONE proposal from each category is to be considered from each District.
- 2. In the case of working teachers, he/she should have not less than 15 years of continuous service as on 5th SEPTEMBER OF THE YEAR,
- 3. The working/retired teachers who were not honoured previously under the scheme of National Award /State Award/National Foundation for Teachers' Welfare Award are eligible for this Award.
- 4. No working/retired teacher shall be asked or permitted to apply for the Award. The proposals of the working/retired teacher shall be recommended by the Inspecting Officer concerned on the basis of Teacher's Record and send them to the District Educational Officer concerned for placing them before the District Selection Committee.
- The members of the Inspectorate, Staff of College of Education and Training Institution are not eligible for the Award.
- 6. The proposals of Working/Retired Teachers should be RECOMMENDED by the District Selection Committee HEADED BY DISTRICT COLLECTOR concerned.
- 7. The working/Retired Teacher should have clear record of service and faultless antecedents and that no enquiries or legal proceedings of any kind, departmental or otherwise, are pending against him/her.

CRITERIA FOR SELECTING THE CANDIDATES (WORKING/RETIRED TEACHERS FOR THE AWARD OF NATIONAL FOUNDATION FOR TEACHERS' WELFARE::ANDHRA PRADESH:: FOR THE YEAR 2012-2013.

For the selection of candidates (working/retired teachers) the following procedure should be followed without any deviation by the SELECTION COMMITTEES.

S1 S1:	in the proforma		Marks to be awarded			
1 4.	Qualification			(2)Marks		
	-Ph.D/M.Phil			1 Mark		
	-Post Graduate			1 Mark		
	i)(f) Length of Service ii)(f)			(5)Marks		
	Out of length of service	: One mark for	each year fo	or the		
	rendered, the period of the	service render				
	Working/Retired Teacher	area (subject t				
	worked in Agency/Slum are					
			: % of passed in subsject			
	subject(s) taught. If the working			20 marks		
	/retired teacher has taught	90% and above	-	18 marks		
	more than one subject/ section marks shall be awar-	Between 80-89 Between 70-79		14 marks		
	-ded for each subject/section	Between 60-69		12 marks		
	and average shall be taken	Between 50-59		10 marks		
	into account	Between 40-49		8 marks		
	nito account	Below 40% par		NO MARKS		
		Delow 4070 pa	3363	NO MARKETO		
EXAME	PLE:					
Class	Subject	% of passes	Committee of the Commit	ks to be given		
VI (A)	Maths	95%		Aarks		
VII (A)	Maths	86%	18 N	Aarks		
ATT (TT)	2-1 24-102-0-1	0070	10 10			
		70%	14 N	<u>Aarks</u>		
			14 N			
VIII (B) Average		70% Tota	14 N	<u>farks</u> farks		
VIII (B) Average	Physical Science	70% Tota o be given	1 14 N 52 N	Aarks Aarks (20)Marks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to 6. (ii):- Average marks in the subject,	70% Tota be given Average marks	1 14 N 52 N	<u>farks</u> farks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to 6. (ii):- Average marks in the subject, if the teacher has taught more	70% Tota o be given	1 14 N 52 N	Aarks Aarks (20)Marks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks	70% Tota to be given Average marks in the subject	1 14 N 52 N	Aarks Aarks (20)Marks Marks		
VIII (B)	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-	70% Tota to be given Average marks in the subject 90% above	1 14 N 1 52 N	flarks flarks (20)Marks Marks 20 marks		
VIII (B)	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall	70% Tota to be given Average marks in the subject 90% above Between 80 &	1 14 N 52 N	farks farks (20)Marks Marks 20 marks 18 marks		
VIII (B)	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-	70% Tota to be given Average marks in the subject 90% above Between 80 & Between 70 &	1 14 N 52 N 89% 79%	(20)Marks Marks 20 marks 18 marks 16 marks		
VIII (B)	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall	70% Tota Dota Average marks in the subject 90% above Between 80 & Between 70 & Between 60 &	1 14 N 52 N 89% 79% 69%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall	70% Tota Dota Average marks in the subject 90% above Between 80 & Between 70 & Between 60 & Between 50 &	1 14 N 52 N 89% 79% 69% 59%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall	70% Tota Dota Average marks in the subject 90% above Between 80 & Between 70 & Between 60 & Between 50 & Between 40 &	1 14 N 52 N 89% 79% 69% 59% 49%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall	70% Tota to be given Average marks in the subject 90% above Between 80 & Between 70 & Between 50 & Between 40 & Between 35 &	1 14 N 52 N 89% 79% 69% 59% 49%	darks darks (20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks 8 marks		
Average 3. 6	Physical Science = 52/3 = 17.3% = 17 Marks to 6. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-ject/section and average shall be taken into account	70% Tota Dota Average marks in the subject 90% above Between 80 & Between 70 & Between 60 & Between 50 & Between 40 &	1 14 N 52 N 89% 79% 69% 59% 49%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks		
Average B. 6	Physical Science = 52/3 = 17.3% = 17 Marks to 5. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each subject/section and average shall be taken into account	70% Tota Dota Average marks in the subject 90% above Between 80 & Between 70 & Between 60 & Between 50 & Between 40 & Between 35 & Between 35 & Below 35%	89% 79% 69% 59% 49% 39%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks NO MARKS		
Average 3. 6	Physical Science = 52/3 = 17.3% = 17 Marks to 5. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-ject/section and average shall be taken into account PLE: Subject Ave	Total Average marks in the subject 90% above Between 80 & Between 60 & Between 50 & Between 40 & Between 35 & Below 35%	89% 79% 69% 59% 49% 39%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks 8 marks NO MARKS		
Average 3. 6 EXAMI Class VI (A	Physical Science = 52/3 = 17.3% = 17 Marks to 5. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-ject/section and average shall be taken into account PLE: Subject Average Marks	Total Average marks in the subject 90% above Between 80 & Between 60 & Between 50 & Between 40 & Between 35 & Below 35% Page Marks	89% 79% 69% 59% 49% 39%	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks 8 marks NO MARKS		
Average 3. 6 EXAMI Class VI (A VII (A)	Physical Science = 52/3 = 17.3% = 17 Marks to 5. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-ject/section and average shall be taken into account PLE: Subject Average Maths Maths	Total Average marks in the subject 90% above Between 80 & Between 70 & Between 50 & Between 40 & Between 35 & Below 35% Prage Marks 96 75	89% 79% 69% 59% 49% 39% Marks to be	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 10 marks 10 marks 8 marks NO MARKS		
VIII (B) Average	Physical Science = 52/3 = 17.3% = 17 Marks to 5. (ii):- Average marks in the subject, if the teacher has taught more than one subject/section marks shall be awarded for each sub-ject/section and average shall be taken into account PLE: Subject Average Maths Maths	Total Average marks in the subject 90% above Between 80 & Between 60 & Between 50 & Between 40 & Between 35 & Below 35% Page Marks	89% 79% 69% 59% 49% 39% Marks to be 20 m 16 m 12 m	(20)Marks Marks 20 marks 18 marks 16 marks 14 marks 12 marks 10 marks 8 marks NO MARKS		

4. 7.	Participation of the Working/Retired teacher		(2)Marks
	in the activities of parent-teacher association.		
5. 8.	Inculcating interest in co-curricular activities and activities among students (work done by the work	cing/retired tea-	
	cher should be noted against each item but not ob	piective type i.e.	
	Yes OR No.	,j************************************	(28)Marks
	(a) Activities under taken for strengthening	6 Ma	ail en
	national integration (give details)	6 Ma	IKS
	i) N.C.C.	2 marks	
	ii) Scouts & Guides	2 marks	
	iii) Jumboree	1 mark	
	iv) Camps	1 mark	
	(b) Cultural programmes participated and training	g given to 4 Man	rks
	students to participate in competition at: (Det	tails)	
	i) School Level	1 mark	
	ii) Mandal Level	1 mark	
	iii) District Level	1 mark	
	iv) State Level	1 mark	•
	(c) Debates/Elocution/Quiz Competitions/Sports	s in which the 4 Ma	irks
	students were made to participate (Details)	4 month	
	i) Inter School Level	1 mark	
	ii) Inter District Level	1 mark	, .
	iii) State Level	1 mark	
	iv) National Level	1 mark	[arks
	(d) Excursion, tours to the important places co	1 mark	IMA
	i) Within the State	1 mark	
	ii) Outside the State		arks
	(e) Participation in the community service (De	2 marks	441 15.5
	i) Social work	2 marks	
	ii) Clean and Green	2 marks	
	iii) Health Campaign (f) Contribution of the working/retired teacher		
	development of the school (Details)	6 N	farks
	i) Accommodation	2 marks	
	ii) Furniture	2 marks	
	iii) Other aids	2 marks	
6 0	Contribution of the working/retired teacher for p	romoting	(6)Marks
0. 9.	literacy in general (Details)		
		2 marks	
1	i) Participation in Adult Education Programme	2 marks	
	i) Continuing education	2 marks	
iii	i) Post literacy programme		(11)Marks
7. 10.	Educational innovative writings useful to the stu	(I) (I)	
	a) If Text Books author, details of the books Class and Subject	5 marks	
	Class and Subject b) Publication of Articles in		
	i) District level	2 marks	
	ii) State Level publication	2 marks	
	iii) National Journals	2 marks	
Q 11	.(a) Any other significant achievement not mention	ned above.	(3)Marks
0. 11	(b) How many illiterates have been made literate	s	(1)Mark
	(c) How many children have been enrolled		(1)Mark
9 12	2. Awards received previously (if any)		(1)Mark
J. 12	Name of the Award Year		
	:- District Award		
			100 3 6 1
		Total	100 Marks